\FY/NY

(owbol>) lg299 59 40

v

1FeY/N\/\Y

Fe¥—1 (YY)

v

(1F+YFol) uai Sl 90 Jlumsd uog S i bo Jgio

L JALVAL!
Fe¥—A(-TY)

v

D VALVAR

FeA=Y (+1Y)

2

A VALVAR

For-Y (1Y)

1FeY/1\/+A

Fer-1 (o1Y)

v

(WYGY ceslu 1) Jglo3b
Gzw¥yl | 1\YhaoV ] WiV 3 WiV 3 WiV 3 WiV 3 WhawV 3 abey
sl pole ForeolS 9 @y bl pale ForolS 9 &y W 3gel 095
Foll 9 3y _ Pl 9 3y
(VAGYY celu 31) pos o3b
GV \AG \Y \AG Y \AG VY \AG VY \1AG Y \AG Y 3 aley
o pole Ssloxo 9 plods b
Si9ls G G o7 o0 o
wigel 09y
bl ple Sl pole
Soloxo 9 ploas L & sloxo g ylos Lo
(YYGIA el ) paw o3
igwoV 3 YVGAA YVGAA YVGAA 3 YVGAA YVGAA YVGIA 3 obey
383 8 39 o0 30T 5lomn | 59, 9 50 e 3T stenss7 | 39 8 39 50 ozooT slemns 5 | 595 50 stme ool slons | 39 839 50 oipeT slens T | 505 0 59 ome oipeT 5le0s 5 | 93 0 9 e tigeT a5 | o 3 90T 09 5




